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Text 1

Chip Games Ltd (CG Ltd) designs and creates computer games. It uses a matrix organisational 
structure.

Chip Games Ltd
Matrix Organisational Structure

Management

Research
Functional

Area

Production
Functional

Area

Sales
Functional

Area

Finance
Functional

Area

Going to Battle 3

Pettz 7

Tank World 4

1 Refer to Text 1.

 (a) Complete the following sentences by choosing the correct words from the list below. [4]

communication         departments         employment         project         teams

A matrix organisational structure involves people working in ..................................... across different

................................... . This helps ................................... when completing a ................................... .
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 (b) Explain two ways in which the functional areas of CG Ltd will be affected by a matrix 
organisational structure.

1:  ...............................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

2:  ...............................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [4]

 (c) Listed below are some of the communication tasks which are completed by CG Ltd. 
  Using a tick (✓), match each form of communication to the correct task. [4]

Form of Communication

Task Oral Written ICT

Sending an email to a supplier asking 
for a quote for an advertising campaign

Telephoning a purchase order for 500 
blank CDs

Taking notes at a meeting

Updating the CG Ltd website

[Total: 12]
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Text 2

CG Ltd needs to promote a new CD game; ‘Super-Boo Karting’. This is aimed at a target audience 
aged 11 and under. The table below shows the amount spent on advertising for the last three games 
promoted by CG Ltd. The table shows the amount spent on the type of promotion, the number of 
sales and the estimated revenue. Information about the target market is also included.

Game 
Name

Radio Newspaper Television

Target
Market

£ spent Sales

Value 
of 

Sales 
£

£ spent Sales

Value 
of 

Sales 
£

£ spent Sales

Value 
of 

Sales 
£

Going 
to 

Battle 
3

18+ 500 600 18000 400 400 12000 1200 600 18000

Pettz 7 5+ 200 200 5000 100 500 12500 1000 400 10000

Tank 
World 

4
15+ 600 650 22750 300 300 10500 1200 700 24500

2 Refer to Text 2.

 (a) Why would a business such as CG Ltd want to promote a new CD game?

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [2]

 (b) Using the table in Text 2:

  • how much was spent on the radio advertising of Pettz 7?  ................................................

  • which game achieved the largest total value of sales?  ................................................ [2]

 (c) Identify two types of sales promotion which might be used by the Marketing and Sales team 
of CG Ltd.

1:  ...............................................................................................................................................

2:  .......................................................................................................................................... [2]
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 (d*) CG Ltd wants to advertise ‘Super-Boo Karting’. Using the information in Text 2, recommend 
which method of advertising would be the best for promoting ‘Super-Boo Karting’. Give 
reasons for your recommendation.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [6]

 (e) Explain one feature of the Trades Descriptions Act which CG Ltd might have to take into 
account when developing advertising and promoting its new game, ‘Super-Boo Karting’.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [2]

[Total: 14]
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Text 3

The directors of CG Ltd want to expand the business and rent a small warehouse for storing stock. 
The directors have decided that the business will need to ask the bank for a loan of £40 000 to help 
with the expansion.

The following documents are to be prepared to help the directors decide whether CG Ltd should rent 
the warehouse:

♦ Profit and Loss Statement for the year ended 31 December 2010;
♦ Balance Sheet as at 31 December 2010.

3 Refer to Text 3.

 (a) Using the figures below, create a Profit and Loss Statement for CG Ltd. [6]

 • CDs, cases etc £50 000
 • Sales £238 000
 • Wages £80 000
 • Other costs  £50 000

  Complete the unshaded boxes.

Profit and Loss Statement for CG Ltd for the year ended
31 December 2010

£ £

Sales

Cost of Sales

Gross Profit

Expenses

1.

2

Net Profit/Loss
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 (b) Using figures from the Profit and Loss Statement, what would be the effect on the gross profit 
and the net profit if the cost of sales were to increase by £90 000?

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [4]
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 (c) Complete the unshaded boxes in CG Ltd’s Balance Sheet as at 31 December 2010. [6]

Balance Sheet of CG Ltd as at 31 December 2010

£ £

Fixed Assets

Buildings 260 000

CD Copying Machines   60 000

Total Fixed Assets

Current Assets

Stock 20 000

Debtors   8 000

Bank 10 000

Total Current Assets

LESS Current Liabilities 40 000

Net Current Assets

Total Net Assets

Financed by:

Share Capital 260 000

Profit and Loss Account

Total
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 (d*) Evaluate the likely impact of the Balance Sheet completed in part (c) on CG Ltd’s ability to 
repay the £40 000. Explain your answer.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [6]
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 (e) CG Ltd needs to calculate the break-even point for the new CD game ‘Super Boo-Karting’. 
The fixed costs are £20 000, the average selling price is £40 and the variable cost is £15. [4]

  Break-even point = Fixed Costs
Selling Price – Variable Cost

Show your working:

The break-even point is ____________________________ CDs.

[Total: 26]
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Text 4

Dorian Brighton, one of the Administration and ICT staff, is responsible for the reception area at 
CG Ltd. A telephone message has been received from Brent Swindon, the Managing Director of 
PM Promotions. Dorian has made a note of the message.

Brent Swindon (Managing Director PM Promotions) rang for Stacey Froggatt, Marketing and 
Sales Director.

The advertisement for the new game ‘Super-Boo Karting’ has been finished. They 
are going to show it next Tuesday at their offices. Can you ring 03438797645 or email 
PMPromotions@shootmail.com to confirm that you can attend.

4 Refer to Text 4.

 (a) Dorian needs to write this message onto a memorandum. What is the purpose of a 
memorandum?

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [2]
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 (b) Using the information in Text 4 and today’s date, create the memorandum which would be 
passed to Stacey Froggatt, Marketing and Sales Director. [7]

Memorandum
To:

From:

Date:

Re:
______________________________________________________________

 (c) Dorian has to train another member of the Administration and ICT staff so that they can 
welcome visitors to CG Ltd. Explain two procedures which are needed when working on 
reception at CG Ltd.

1:  ...............................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................
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2:  ...............................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [4]

 [Total: 13]
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Text 5

One of the new administration staff at CG Ltd has created the following ‘in case of fire’ notice.

Fire Notice

If you hear the sound leave the building.

5 Refer to Text 5.

 (a*) Explain how the emergency procedure identified in Text 5 could be improved.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [6]
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 (b) Identify three ways in which ICT could be used to improve the appearance of the ‘in case of 
fire notice’.

1:  ...............................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

2:  ...............................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

3:  ...............................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [3]

[Total: 9]
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Text 6

The CDs for the new game ‘Super-Boo Karting’ will be manufactured using batch production.

6 Refer to Text 6.

 (a) Other than batch production, identify two other methods of production that a business could 
use.

1:  ...............................................................................................................................................

2:  .......................................................................................................................................... [2]

 (b) Explain one advantage and one disadvantage to CG Ltd of using batch production in the 
manufacture of the CDs.

Advantage:  ................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

Disadvantage:  ...........................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [4]

[Total: 6]
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